


Week  16 Year 2 Monday 6th July 2020
L.O: To know my 2x, 3x, 5x and 10x
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REMEMBER: Spend at least 10 minutes a day memorising your times table!

SPECIAL PRIZE: 
If you memorise all of the times tables when you return to school

[bookmark: _GoBack]Week 16 Year 2	Tuesday 7th March 2020
L.O: To use addition and subtraction facts to 20 fluently
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Challenge
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Week 16 Year 2 	Wednesday 8th July 2020
L.O: To understand the inverse relationship between addition and subtraction
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Challenge
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Make sure you explain your answer as best as you can.






Week 16 Year 2 Thursday 9th July 2020
L.O: To use addition and subtraction facts to 20 fluently
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Challenge:
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Week 16 Year 2  Friday 10th July 2020		
L.O: To understand the inverse relationship between addition and subtraction
[image: ]
[image: ]

Challenge:
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Make sure you explain your answer as best as you can.
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Check Calculations

1a. Spot the odd one out. Use Base 10 to
help you.

9+1=10 @

Explain why.

¢

2a. Dave says,

I know that8 +2=10
because 10-2=38.

aaan
111 am

Is his method correct? Convince me.

3a. Rewrite the following to make it a
subtraction word problem.
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Check Calculations

1b. Spot the odd one out. Use Base 10 to

help you.

7+3=

Explain why.

g

2b. Linda says,

Iknow that5+3=8
because 8 -3

ane [ ]
an an

Is her method correct? Convince me.

3b. Rewrite the following to make it a
subtraction word problem.
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Year 2 Check Calculations Reasoning and Problem Solving

because 10-2=8. because 8 -3 =5.

anan ae ane |
L 111 an an

Is his method correct? Convince me. Is her method correct? Convince me.

3a. Rewrite the following to make it a 3b. Rewrite the following to make it a
subtraction word problem. subtraction word problem.
I have 4 marbles in a bag. There are 3 apples in a bowl.
Then | put 6 more marbles in. 1 put 2 more apples in.

Now | have 10 marbles all together. Now there are 5 apples all together.

an aae "
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Check Calculations

4a. Spot the odd one out.

16+4=

Explain why.

5a. Nick says,

Iknow that9+7=16
because 16-9=7.
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Check Calculations

4b. Spot the odd one out.

13+43=16 @

3+13=16

Explain why.

5b. Daisy says,

I know that9 +9=18
because 18 -10=8.

Is her method comrect? Convince me.
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1a. Circle the calculation that you would 1b. Circle the calculation that you would
use to check: use to check:

ana oe rrrr

3a. Tick all of the calculations that match 3b. Tick all of the calculations that match
this image. this image.

[ Js+e=9 [ Js-1=4
[ J7-a=3 [ Js+a=7
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3a. Tick all of the calculations that match
this image.

[ Jsre=9 [ Js-1=4

D7-4=3 D3+4=7
g .

4a. How can you check this calculation
using addition?

N UK | Latest ne.

3b. Tick all of the calculations that match
this image.

A A A
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4b. How can you check this calculation
using addition?
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Check Calculations

Check Calculations

5a. Circle the calculation that you would 5b. Circle the calculation that you would
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Check Calculations Check Calculations

1a. Spot the odd one out. Use Base 10 to 1b. Spot the odd one out. Use Base 10 to
help you. help you.

9+1=10 @

Explain why. Explain why.

Y e

2a. Dave says, 2b. Linda says,

I know that8 +2=10 Iknow that5+3=8
because 10-2=38. because 8 -3

anan ae ane [ ]
L 111 an an

Is his method correct? Convince me. Is her method correct? Convince me.

3a. Rewrite the following to make it a 3b. Rewrite the following to make it a
subtraction word problem. subtraction word problem.
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Is his method correct? Convince me. Is her method comrect? Convince me.

3a. Rewrite the following to make it a 3b. Rewrite the following to make it a
subtraction word problem. subtraction word problem.

I have 4 marbles in a bag. There are 3 apples in a bowl.
Then | put 6 more marbles in. 1 put 2 more apples in.

Now | have 10 marbles all together. Now there are 5 apples all together.
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Check Calculations

4a. Spot the odd one out.

16+4=

Explain why.

5a. Nick says,

Iknow that9+7=16
because 16 -9=7.

o000 000
0000 L1000
Is his method correct? Convince me.

6a. Rewrite the following to make it a
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Check Calculations

4b. Spot the odd one out.

13+43=16 @

3+13=16

Explain why.

5b. Daisy says,

I know that9 +9=18
because 18 -10=8.

oo000 00000
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Is her method correct? Convince me.

6b. Rewrite the following to make it a
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Times Table Hunt: 2x, 3x, 5x and 10x Table

Detective Dog is on the hunt for some missing numbers from the 2x, 3x, 5x and 10x tables. Can you help him find them?

()-
A

17:49
W
' 30/06/2020




image2.png
S v
C @ File | C/Users/user/AppData/Local/Temp/Temp1_Year-1-2-Autumn-Block-2-Step-2%20(1).zip/Year-2-Autumn-Block-2-Step-2-VF-Check-Calculations.pdf *

O YouTube @ Bo S Tel takin cyList... S L. @ Ne [ VSN UK | Latest ne. ne er Rabbit .

1a. Circle the calculation that you would 1b. Circle the calculation that you would
use to check: use to check:

ana oe rrrr

3a. Tick all of the calculations that match 3b. Tick all of the calculations that match
this image. this image.

[ Jsre=9 [ Js-1=4
D7-4=3 D3+4=7
hrg
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5a. Circle the calculation that you would 5b. Circle the calculation that you would
use to check: use to check:

éa. True or false? 6b. True or false?

[o]e[e[o]e][0[0[0[0]0]

[o[e]e] | |[e]e]e] .
7a. Tick all of the calculations that match | 7b. Tick all of the calculations that match
this image. this image.
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[ Jree=13 [ Ji2-6=6
[ J13-7=6 [ J2+2=4

e E G b 9 F 30/1022/021020





